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(i) lim
n→∞

[
2n + 2 sin n

2n + 3

]
, (ii) lim

x→0

sin(5x)− sin(3x)

sin(2x)
,

(iii) lim
x→0

(1 + 2 sin x)3 cot x+ 1
x , (iv) lim

y→1

|y − 1| − y2 + 1

|y − 1|+ y2 − 1
,

(v) lim
t→0

5
√

1 + t5 − 5
√

1 + t2

3
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1− t2
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2. �X� lim
n→∞

√
n

(√
2n + 1−

√
2n

)
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3. 'a1 = 1, an+1 =
√

2an + 3, n ≥ 1
�
�J lim

n→∞
anD3, ¬O�Á§
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4. E×Ðóf , CÞó�{an, n ≥ 1}, {bn, n ≥ 1}, �JTÍJ lim
n→∞

an

bn
= 10

l lim
n→∞

f(an)
f(bn)

= 1
�

5. 'a > 0
×ðó, �µ�LJ�lim
x→a

√
x + 1 =

√
a + 1

�

6. 'Ðóf(x)3x = 0=�, vf(x + y) = f(x) + f(y), x, y ∈ R
�
�Jf3Rî=

�
�

7. 'f(x) = 1, ux
b§ó, f(x) = 2x − 1, ux
P§ó
�
�µ�LJ�

(i) f3x = 1=�; (ii) f3x = 1/2�=�
�


